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3.14% Water flows around the vertical two-di-

mensional bend with circular streamlines and

1;?
constant velocity as shown in Fig. P3.1% If the
pressure is 40 kPa at point (1), determine the
pressures at points (2) and (3). Assume that the ¢3J i

velocity profile is uniform as indicated.
V =10 m/is

FIGURE P3.14
2
VIE 38 - BL ith B2 ) nd V= Jomss
Thvs, with R=6-n

ﬁ%:—f——%f or

h
V(% dn = fcrdn V ain
n=o

so that .S;'HCE' a"and, Vaﬁe constants
pp=-n-oV* [
n=o
Thys,
p=p-¥n-eV (2%
With g, = #0kPa and 7, =1m ? g, :yaiﬁw—zmm{m% (/m)
- 997 2% (102" In (—£-)
or
A=12.0 kPa
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Jﬂg = -20.] kPa
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